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Choose the best choices
11-My brother turned off the TV becausel ........................ Physics.
1)Study 2)Studied 3)will study 4)was studying
12-‘I don't feel all right. .............cooiiinit. | leavethe class?
‘Yes, of course.’
1)Do 2)May 3)Should 4)Will
13-I'm when I’'m with you.

1)good 2)well 3)nice 4)happy




14- Listen carefully ,becausetherewillbea .......................... about thislesson next week .

1)word 2)test 3)break d)grade
15-Itrained .........cooeiiiiinnnnnn. last night.

1)hard 2)heavy 3)slow 4)quick
16-Can you.......c.cvvvieiiiiiiieeanns me how to use this phone?

1)work 2)visit 3)think 4)show
17-Thesetwoshoes are ..., Sizes! Please take them off’.

1)difficult 2)careful 3)different 4)beautiful

18-Which word has different vowel sound?
1)mount 2)town 3)home 4)about

Read the following passage and choose the best choices.

Mrs. Mills often spends too much money on clothes. She doesn’t need new clothes, but she loves
buying them. Y ester day she saw a beautiful coat in a shop window. She went in and put it on. It was
just theright size ,but it was very expensive. Mrs. Millsdidn’t have enough money ,but shetook the
coat home and showed it to her husband . Heliked it very much ,but he didn’t like the price. Hiswife
gave him a bill for $20.

19- Which sentenceistrue?

1) MrsMillswasvery old woman?

2) MrsMillsdidn’'t spend a lot of money.

3) MrsMillswasa very happy woman

4) MrsMillsdidn’t give money for the coat.
20-MrsMills bought the coat becauseitwas.......................

1) very small 2)very expensive 3)theright size 4)very cheap
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